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SECTION - A

Multiple choice questions.

The Equal Remuneration Act, of

equal work.
(A) 1986

[7]

provides that equal wages should be paid to

(B) 1976 (C) 1966 (D) 1972

The representation of women in different state assemblies is
(B) More than 5% (C) More than 10% (D) More than 20%

(A) Less than 5%

What is the share of women'’s participation in the State Assemblies?
(B) More than 10% (C) 9% (D) Less than 4%

(A) Less than 5%

On an average an Indian woman works

(A) One hour.
(C) Two hours.

(B) Half an hour.
(D) One and a half hour.

Sexual Division of labour signifies, that:

i.  Gender division emphasises division on the basis of nature of work.
ii.  Division between men and women.
iii.  Caste is the basis of Gender Division.
iv.  Work decides the division between men and women.

(B) (i), (ii) and (iv) (C) (i) and (iii) (D) (iv) and (i)

(A) (i), (iii) and (iv)

In urban areas, below the poverty line means:

(
(
(
(

A) Those who spend X 327 or less per person per month.
B) Those who spend X 454 or less per person per month.
C) Those who spend X 550 or less per person per month.
D) Those who spend X 1000 or less per person per month.

The Scheduled Tribes are often referred to as:
(B) Dalits. (C) Adivasis. (D) Outcastes.

(A) Scavengers.

Answer The Following Questions In One Sentence.[1 Marks Each]

more than an average man every day?

[6]

Mention one situation where expression of caste differences in politics play a positive

role.

Has Equal Wages Act provided any comfortin women'’s jobs?

What is the proportion of women in legislature of India?

What did radical women do?

What do you understand by vote bank of a caste?

(1]
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Why is there a decline in sex ratio in India?

SECTION - B

VERY SHORT ANSWER QUESTIONS [4]

What steps have been taken by the Government of India in the interest of ‘Other
Backward Classes’ (OBC)? Explain any two steps.

Explain any two reasons responsible for the unfavourable sex ratio in India.

SECTION - C

Answer The Following Questions In Short.[3 Marks Each] [18]
How does caste get politicised?

What factors matter in politics other than caste?

Suggest any three steps to improve the women’s participation in politics.

How does religion influence the political set up in our country? Explain.

What does communalism lead to in its extreme form?

What is communal politics? How is it preferred?

SECTION-D

Answer The Following Questions In Brief.[5 Marks Each] [15]
Examine briefly communalism as an ideology and as a social phenomena.
Give the meaning of religious differences.

How can you say that women’s role in public life is minimal?
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